Media 3

2-way 4" Powered Multimedia Speaker System

TECRHNICAL MANUAL

JBL Consumer Products Inc.
80 Crossways Park West
Woodbury, N.Y. 11797
1-800-336-4JBL in the USA

H AHarman International Company

Part No.: MEDIA3SM Rev A




HN Media 3

Two-way Powered Speaker System

TABLE OF CONTENTS

FeAtUIES. ..o 1 BloCk Diagram ...........coccmrevmriie e 6

Specifications ... 1 Printed Circuit Boards ......ccccccceiiiierniiiiineeeeeen e, 7

Disassembly Procedures........ccccoevvvmeniiiinceeerennsnieenennn, 2 Electrical Parts ListS.........ccoevvieiniiii e, 9

Media 3 Master Speaker Exploded View ..................... 3 Packaging Exploded View & Parts List............ccoounnee. 10

Media 3 Slave Speaker Exploded View........cccecevrurennee 4 Integrated Circuit Diagrams .....c.cccoocveeverceercennensencinnnne 11

Trouble ShOOtING .......iveeeeee e 5 Schematic Diagram .......ccocvecomrioeriiencec e 12
FEATURES

m Two-way speaker system.
m 14 watt stereo amplifier.
m  Auto turn-on / turn off circuitry.

m  Magnetically shielded speakers for flicker-free use near
computer monitors.

m Dual stereo inputs.

Separate bass and treble controls. l
Subwoofer output.
Stereo headphone output.

Built-in electronic equalization for proper frequency balance
with satellite speakers.

SPECIFICATIONS

Speaker System.

Speaker Size:

Total Amplifier Output Power:
Frequency Response: .

Input Impedance

Headphone Output Jack .
Subwoofer Output Jack: .
Signal Input Jacks: .

External Dimensions:
Height .

Width
Depth .
Weight .

External Dimensions (metric)
Height . L

Width
Depth .
Weight:.

Full range, two-way system
4” woofer and 1.5” tweeter
14W at less than 10% THD
90Hz - 20kHz

50k ohms

Stereo miniplug (1/8”)
Stereo miniplug (1/8”)
Stereo miniplug (1/8”)

8.25"

5.5

4.9

9.75 Ibs. per pair

210mm
140mm
124mm
4.4 kgs per pair




Two-way Powered Speaker System

Media 3

DISASSEMBLY PROCEDURES

Please refer to the explosion drawing, the disassembly
procedures are as follows:

For Master Speaker

Step 1

Unscrew 6 M3.5x15 screws (36) from rear panel (35).
Separate the Front and Rear Panels (8) (35).

Step 2

To disassemble the Heat-sink (31) from IC PCB (25)
unscrew 4 M3x8 (33) screws from Rear Panel.

Disassembling the Heat-sink
Unscrew 2 M3x12 (26) screws from the IC PCB (25).

Unscrew 4 M3x5 ISO screws (33) of IC PCB (25).

Unscrew 4 M3x5 ISO screws (32) from Heat-sink (31).
Hexagon bronze stick between Heat-sink and 1C PCB (25)
will be loosened at the same time.

Step 3 (RCA PCB(28)

Unscrew 2 M3x8 screw (30) on Rear Panel, then take out
the RCA bracket. The RCA PCB (28) can be separated
from the shell also.

Step 4 (Front Panel)

To disassemble VR PCB (22) remove 3 VR knobs (6).
Unscrew 2 M3x6 screws (21). Remove VR PCB (22).
Loosen 3 internal caps (20).

To disassemble the LED PCB (17) unscrew M3x8 (18).

To disassemble the SW PCB (16) unscrew 2 M3x8 (14)
screws on Rear Panel.

To disassemble the Earphone PCB (9) unscrew 2 M3x8
(11) screws on the Front Panel. Remove the bracket (10)
and Earphone PCB (9).

To disassemble the 1 34” Speaker (23) unscrew 2 M3.5x13
screws (24) from the internal side of the Front Panel.

To disassemble the 4” Speaker remove the metal grille (3)
and unscrew 4 M3.5x13(4) screws. The Speaker can then
be removed.

The Slave Speaker

Step 1

Unscrew 6 M3.5x15 screws (36) and separate the Front
and Rear Panels (38) & (39).

Step 2 (Rear Panel)

To Disassemble RCA PCB (28) unscrew 2 M3x8 screws
(30) from Rear Panel. Take out RCA bracket (29), then
RCA PCB (28) can be removed from sink.

Step 3 (Front Panel)

To disassemble 1 34” speak (23) Unscrew 2 M3.5x13
screws (24).

To disassemble 4” speaker (5) remove the grille (15)
and remove 4 M3.5x13 screws (4). Then the speaker
can be removed.




Two-way Powered Speaker System

MEDIA 3 MASTER EXPLODED VIEW ( with amplifier)

Media 3

MBI\ pepo|dx]
18]SEeN € BIpOIN

3 'ASSV 80d+MOVI YOH 8¢
14 G'LHXEN 00-66000-98r" | L

4 CIXEW ¥0-91000-081" | 9¢

3 'ASSY QHv0d Od S¢
4 |dL EIXSEN S0-¥1000-08r | ve
3 YINVIdS./E | 0651 €0-82000-80f" | €2
3 'ASSV g3d+HA [44
[ IdLl 9.EW ¢0-€1000-08r" | t2
€ 1NN 00-€£000-081" | Oc

3 31V1d 13MOVHE HA ¢0-¥800%-10r | 61

5 IdL 8XEW ¢0-+1000-081" | 81

I ‘ASSY 80d+031 Ll

5 'ASSV 80d*MS 91

3 IdL 8XEW ¢0-¥1000-08r | v1

4 0SI SXEW 10-21000-08r" | €1

3 31V1d ONILINNOW 00-¥800%-101 | 21

4 Id1 8XEW c0-¥1000-08r" | |1

3 13X0vHdg 10-9900v-10r" | O}

3 0901Hv3Y 02-¥800¢-10r" | ZE I 'ASSV MOVI' INOHJHVI 6
9 SIXSEW €0-25000-08r | 9€ I T3NVd INOHd 10-#8001-10"" | 8
3 TI3HS HY3H 00-¥800¢-10r" | S€ I HONM H3MOd 60-€0000-v0f" | £
14 0S| SXEW L0-c1000-08" | ¥E € SONM 90-10000-+0r" | 9
14 IdL 8XEW c0-71000-08 | €€ - HINVILS.Y €Y 00-21000-80r | S
4 OSI SXEN 10-21000-08r" | 2€ 14 IdL ELXSEN 00-25000-08r | ¥
I MNIS 1v3H 00-0S000-VII | L€ 3 I7IHD 00-££000-€Ilr | €
4 IdL 8XEW 20-¥1000-08r" | 0€ 3 T3NVd 0901 WO1L0d 00-8€100-0¥I" | ¢
I 13X0vH8 YOd L0-#800%-10I" | 62 ] TANVd 0901d40L 01-8€100-09I" | |
ALD NOILdIHOS3A | Y3IFWNN 1dvd |[ON ALD NOILdIHOS3d | HIAGWNN 1dvd [ON

d d J g v




Media 3

MEDIA 3 SLAVE EXPLODED VIEW (without amplifier)

Two-way Powered Speaker System

9 4 gq
MBIA papodx]
OAE[S € BIPSIA
I [(3AV1S) DNISNOH Hvy3d 01-¥8002-10r | 6€
I (3AV1S) TINVd LNOHd 01-¥800(-10r | 8€
[ Id1 8XEWN 20-¥1000-08f | 0€
! 1310VHE VOu L0-¥800%-LOr" | 62
1 "ASSV 80d OV YOH 82
2 IdL EIXS'EW S0-71000-081 | ¥2
I HIANVAJS.P/E | 0651 £0-82000-80r | £2
1 e ERLE L0-ZZ000-ELT | Gt
I HINYAdS.P £V 00-21000-80F" | &
2 IdL EIXSEW 00-25000-08F | ¥
1 TANVd 0901 WOLLOE 00-8£100-0¥" | 2
I TaNVd 0901401 01-8E1L00-0%M | |
ALD NOLLJIHOS3A | H3GWNN 14vd |ON
9 3 e




8 Media 3

Two-way Powered Speaker System

TROUBLE SHOOTING PROCEDURES

1. If the power LED Fails
A. Check if the accessory adaptor is properly fitted.

B. Check if the adaptor is plugged into the DC jack.

2. No sound from the Master Speaker

A. Check if the adaptor is plugged into the input jack and
audio signal is lighted.

B. Check if the power switch is on.

C. Check to see if the volume knob is turned up half-way.

3. No sound from the Slave Speaker

A. Check to see if it is well connected to the Master
Speaker.

4. The power signal is RED
(normally it should be GREEN)

A. Check if the adaptor is plugged into the jack.

5. No volume

A. Check to see if both the treble and bass knobs are
turned up half-way.

6. Distortion

A. Check if input jack 1 and input jack 2 are both
connected.



Media 3

Two-way Powered Speaker System

BLOCK DIAGRAM

) d 3 d J g v
< r—————O
r> Tazew g1 [ 0N 0Lz OBt 41 yamodoa | FOHVIY | inaniov
50 4y L 1DIO HOLYINOTY 5
VA— « —o°
INOHAAYaH | ZOOA B LOOA
1Nd1NO INOHd 1 ‘ ‘
LO0A ¢O0A Z00A
Fy [——Z0O0A
+ aasssyWrN SOI | o
_H_ V] 140 diNY [¢
YIIO0OMENS (e 150 108LNOD
1Nd1No 440 NVI10 01NV 3
¥3400MaNs 440/NO ¥3IMOd
A
ZO0A
ﬁ Z00A
NETEEIVYNEY VOOA | aanvis
P ! 1N0 8NS/M 4dH'd 4dHY
IO dINY ZLNdNIEN
o [1o¥LNOO aNoL
yamod ! ] . | ssvaaiaaul
02S5IVaL ; TANNVHO ¥/
¥0I <. © — 7 i YSSONV 201 [
| f—a_ 1NO 8NS/M 3dH 1 3 LLNGNI(4/7)
¥3400m/1 ' 1 o PGGONV €01 4dH
¥3LIIML/T | ] L
weibelq »o0|g € elpaiy
) | E| _ d J g Y




UBL

Media 3

Two-way Powered Speaker System

PRINTED CIRCUIT BOARDS (viewing trace layer through the board)

A | B | C | D | E
1 1
- [] Ij c48 B
|
2
2 6t s
C26 | |
CN8 R4 C2 I
6 @us ” T
““7[‘ D c46
3 -+ R27 + 3
Ucc CN2
C1 —
Re8 F —TI00F TRET L
2 P
L ORI
REE__CN? @ n [
4 - D 97378 R76 : 4
cseQ J30 css
DDDR67 JIDDDnm 6[”] -
- 203 202 c62
R64
5 J1® O . 5
I:Inas D
c72 —
N cm R83
Ucc G UcR L G cao
GUsR G L Mt Q | ]
5 CN5.:: as RS1 c73 RE4 6
c76
D m[j@nnan IS5
RS2 B
L % % L2 RE8 Re Q ng;
7 7
A B C D E




Two-way Powered Speaker System YBL Media 3
PRINTED CIRCUIT BOARDS (viewing traces through the board)

A | B | C | D | E
: t = \ :
|
SPEAKERT PHONE PUTPUT
n
CNS
b - + - O
Woo WET
2 c28 | 2
WOOF  TWET
RED
i . |o ™
X ‘3 7] ©
3 %] & o GRN
2 S 5 3
= Q CN3
=
3 3 3
(@]
u S
100000 = 3o
- CE— -4 —
+ |
L RIOR12 1R30 L
Ri R32R31 CN2 =NE POMER SW
CN?. I ! I CN6 / |
LGR s [hOhRs lCNl
4 4
CN4 R3
21 G J14J13
201 R58 L
T 3., R z —
Q3 m
- m
T55 L T | QSE
- R13 5
5 a4
56|
{3 Re7 c53 R33
C39.m I
oo = o [
N C40 RS 2
— == @
] {1 D2
ca?G{}ecm ;
6  —
C38 RS54 Wyl ]
{3} Rr3
 — 1 R4 R53
— 3 Ras Csi Q |
C— ~c73 R62 1 g o3 S
— C21[; ci0 R15 S
{_—_—3C23 1 o el ; dE cair3s T3 =
P J23 { } ™
. 727 RZ5 R4S eemmme r B caa( D
Rs0 {1 €30 7
7 CN? SEGID R
A B C | D | E




Media 3 Two-way Powered Speaker System
ELECTRICAL PARTS LIST

REF. NO. PART NO. DESCRIPTION aTy REF. NO. PART NO. DESCRIPTION QaTy
Resistors C17,18,87,38  J58-10683-50  M/C 683 4
R1. 52, 77 4730585 47K U8 3 019,20, 39,40  J58-10823-50 M/ 823 4
R2. 22, 42 541830585 18K/ 1/8W 3 02419’,252(5,‘1312’,%25’, J57-10100-25  E/C 10uF/25V 10
R3, 18, 38, 64 J54-91205-85 91K/ 1/8W 4 64, 66
R4, 57 1546830585 68K/ 1/8W 9 (28, 48 J57-10339-02  E/C 3.3uF/100V NP 2
R10,11,30,31  J54-15205-85 15K/ 1/8W 4 54,63,73,74  J59-10101-25  C/C 101 25V 4
R12,13,16,17,  J54-10305-85 10K/ 1/8W 11 C56 J57-10101-25  E/C 100uF/25V 1
gg: gg gg 37, C57 J57-10221-26 E/C 220uF/25V +/-5% 1
R14. 3 1503920585 39K/ /W ] £58, 90 J59-10104-50  C/C 104 50V0 2
R15,27, 35,47,  J54-47205-85 47K/ 1/8W 7 crr. 78 49610225:50 - G 223 2
67, 84, 86 col J57-10470-25  E/C 47uF/25V 1
R16 % %% %% 40,  J54-82105-85  820Q/1/8W 7 Inductors
R21, 41 J54-82305-85 82K / 1/8W 2 L3, 5 J60-10101-00 0.1mm (FERR|TE CORE) Crystal 2
R25, 26, 45‘ 46 J54-10405-85 100K / 1/8W 4 L4, 6 J60-10201-00 0.2mm (FERR|TE CORE) CWST&| 2
st%, 24,43, 44,  J54-10205-85 1K/ 1/8W 5 Integrated Circuits
R28, 29, 48,49  J54-33905-45 330/ 1/4W 4 Ict J51-00019-01 - 7810 1A REGULATOR !
RSO, 51,53, 54,  J54-56305-85 56K/ 1/8W 1 1C2, 1C3 J51-00063-00  ANB554 O AMP 2
71,72, 73, 75, Ic4 J51-00061-00  IC TDA1552Q POWER AMP 1
78,81, 8 IC5 J51-00002-03  NJM4558DD OP AMP 1
R3S 1543320585 83K T1BW 1 c6 J51-00065-00  M5216L OP AMP 1
R56 J54-22405-85 220K / 1/8W 1
R58, 63 J54-22005-85  2.2K / 1/8W 2 Jumper Wires
R60, 69, 91,92  J54-47105-85 4700/ 1/8W 4 4 f 3,56, 7, 10, J23-00008-01 10 m/m 15
R61 J54-56405-85 560K / 1/8W 1 16, 17, 18, 20,
R62 J54-10505-85 1M/ 1/8W 1 28
R74 541940585 190K / 1/W ; J21,g4,281, 92,2152,3 J23-00006-01 7.5 m/m 13
R87, 88 J54-10005-85 1002/ 1/8W 2 24, 25, 26, 27
VTﬂ ,2152, J56-00037-00 31610G B10K*2 L=15 W/CC 4 J29 J23-00011-01 15 m/m 1
VR3-1(R), 3-2(L)  J56-00041-00 VR A10K*2 L=15 2 Connectors
) CN{ J24-00070-00  1007#26 2PIN 250 m/m 1
Transistors CN2 J24-00066-01 1007426 5PIN 180 m/m 1
3,4,7,8 J52-00027-01  28C1815 4 CN3 J24-00069-00  1007#26 3PIN 250 m/m 1
as, 6 J52-00026-01  28C1015 2 CN4 J24-00067-00  1007#26 6PIN 250 m/m 1
Diodes CN5 J24-00067-01 1007426 6PIN 200 m/m 1
D1, 2 J53-00001-02 IN4148 2 CN6 J24-00071-00 1007#26 4PIN 250 m/m 1
ZD1, ZD2 J53-00013-02 ZENER 5.6V / 1/2W 2 CN7 J24-00068-00 2651#28 3PIN 250 m/m 1
ZD3 J53-00015-00 ZENER 5.1V / 1/2W 1 CN8 J24-00064-00 1015420 2PIN 180 m/m +SIN 21T 1. 1
11,2 J53-10001-00  LEAD WIRE BEAD 35'08'6 2 L ((\)ngglf'TTv\yEETT)) J24-00065-00  1015#20 4PIN 250 m/m 2
Capacitors LED
¢l J57-00222-25 /G 2200U/25V 1 149-00007-00  L-3WAEGW LED ;
e2 Jor-00102:25 - E/C 10000725V ! J49-00028-01  3PIN 7.0 m/m LED HOLDER 1
€3, 4,14,15,26, J58-10104-50  M/C 104 10
?1; 34, 35, 46, Miscellaneous
C5. 75. 76 J57-10471-25 E/C 470uF/25V 3 St J61-00001-07 Power Switch PUSH 6PS+ 1F6PLB-M 1
06232425,  J57-1010850  E/C uF/50V i JACK 1, 2 J62-00038-00 3.5 D=7 L=3 H=6.5(BLACK) 2
gg 44, 45, 51, JACK 3 J62-00039-00 3.5 D=7 L=3 H=6.5 1
610,30, 65 58101050 WG 102 . JACK 4 J62-00040-00 3.5 D=7 L=3 H=6.5 (BEIGE) 1
o JACK 5 J62-00024-01 PIN2.0 D=6.3 L=3.5 H=11 DC 1
oy ’,16',312' 3. JoTANTSS0 EC A.TuFS0V ! SPEAKER+.- J85-00108-00  PIN TERMINAL, PIN 2 4
C12,13,32,33  J58-10103-50  M/C 103 4

9




Two-way Powered Speaker System Media 3
PACKAGING EXPLODED VIEW

Item Description Part Number Quanfity
JBL Media 3 serial No. sticker J37-00194-00 1
Made in Taiwan sticker J37-0004-04 1
Serial No.sticker for Master Speaker J37-00194-02 1
Serial No. sticker for Slave Speaker J37-00194-03 1
Serial No. sticker for gift box J37-00194-04 1

Polypropylene Bag
J45-00004-03

Warranty

) ) AC Power Supply
J38-00108-00
/ DC-13-S04

Polypropylene Bags
J45-00004-03

Owner’s Manual

J38-00108-01 A

AN

Stereo Miniplug Cable

J20-00010-03 Media 3 Slave Speaker

Media 3 Master Speaker

Packaging Inserts
(%3 pieces)
J34-00018-00

Gift Box
J35-00167-00

10




4’ Media 3 Two-way Powered Speaker System
INTEGRATED CIRCUIT DIAGRAMS
IC4 - TDA1552Q
IC1-7810 1AREGULATOR POWER AMP
MUTE/STAND-BY
SWITCH POSITIVE POSITIVE
° O ° NOT CONNECTED VSL‘;\%L VCS)IL.J'I;%\E(Z
o o |
e 1 3 1o
it (R
INPUT 1 h —| A output 1A
23
5 —+
]—( ‘—( ‘—( ] 6 — OUTPUT 1B
= g 'é girs?:?:]ldl—z_ +5oe|{gg%nce
7 Vi
1EFI/I50V 13 ‘
lNVPlllJTZ | I L1 OUTPUT 2B
g
IC2 & IC3 -\;AN6554 OP AMP LT 7| outpuran
Voo Vi Vil (GIEIED) Vi Vs Vo = =
4] [13] [i2] [11] [1o] [o] [6] :
L L mm
% \3/4 power ground (substrate)
71X | Z2X IC6 - M5216L. OP AMP
[ 1 [ ]
L) (2] [3] L4 [s] [e] [7] o
=yt AR A
Voo Vim Vi Vee Vie Vie Voo OUTPUT 1 E E (S.‘.L)JEQ_\QIER
INVERTED INPUT 1 [2 | /& N 7] ouTPuT2
2
NON-INVERTED ks —g
ERTED [3 6] INVERTED INPUT 2
- . NON-INVERTED
IC5 - NJM4558DD OP AMP (1/2 SHOWN) ”gﬁrﬁ@ [4] 5] NS
Vi o ‘ ,
PR
N
ANPUT oOUTPUT
+INPUT 0
' m uE; g .
._|< K AOUTPUT [T] 8] v+
”“K i A-INPUT 2] /4 AN [ 7]BOUTPUT
B
=1l= = i A+INPUT [3 ] =\ 16]B-INPUT
T V- [4] 5] B +INPUT
V-o + .

11




MASTER & SLAVE SPEAKER SYSTEM

Media 3 Schematic Dia

A B C | D E F H
7 |(=:/1510v YRI
L ” R13_10KEB) Rye
[Re
Ic2¢ g 4 A
ANG554 c17
1058V ci6 | — [_1' 5%
9 5 —1 683 ¢ 683 8
55V 3R17 o
4.7uF/50V 10K
N 17
: SR2:
i 5 ' VR3-(L) C|1|9 c20 318K
VR2-1 10K (A ] | T
OSMYLA) k) (MYLA) ! B 823 | leoa
i ! ! $Ris8
| . = ! 1K1
1 1 1
1 1 )
X ! I R19¢ 3$R20
| i ! 8203 $820
S\ i : ! L |+
t | c21 ca2
JAQ/KZ—J—O'“(S 475}3/150v ‘ Ry VA2 Rl ! | 100725V :E(mezsv
R Rma3i TUFSOV  jok  10K(B) 10K ! t L L
K5 Tk " i | T
PHONE R32 ' C347C35 ! 1620 .
cap § 10K ! oiMvLA) | 1 B ANessa |
102 . P css R !
= = = | + + '
: 13 | !
! oY 4.7uF/50V '
- |
’—‘ 1
t RA1
o ! car cassn
103MYLA)T ymo | T103(MYLA) V?gf%i; ¢ : I I
R50¢ ¢R51 10K(B) N 683 ¢ 683
56K1’ 356K M SR37
:Ii = 10K
l1csl;;'50V K28 :
9.0V <
¢ ANGS554 c39 c40 3
I 1L
|} L)
823 | ¢823
$R38
9K1
. C57 R39S JR40
+  lme2 8203 3820
1]_ 2 220uF/25V |+ 3 R
:EOuFfzsv . Cat =LE=tE C42
> = 2SA1015 FEB 10uF/25V]  HOuF/25V
3 AN 820 ==
. 560K
$R57 Reoy Qs
>
z a2 C55 268K 4703 28C1015 R69
3 34 10uF/25vV Q3 470
+ 1 +if 25C1815)/ Rgg RE3 >
| 2 A Ty Q8
L C54 Dt s 10K 2K2 .
100PC
o s £ S TN
s R56 5V1
Bor | 9% D1 meg ) 04 POWER
W—as T ResCes e v o LED 1
\ 5V6 b
Rosg ez v
] o \ B e i
+ + \ \
>~ C53 == 056 9K1 \\POWERSW
| _ltFmsov[100uFr2sv 1
DC INPUT 16.5V 'c 10.0V
/w 1.7A DC INPUT 7810 0.0V
o—— ’ Vin  Vout 3 T
ACTI7VA SooouF | aoour GND cs
60Hz N BV |25V 4700F
o— | JACK 5 JE - 2 25V
DC-JACK c3 c4
— 1T
A B C D [ E [ F [ H




Media 3

Media 3 Schematic Diagram

F G H [ J K L [ M I N
\
Test voltages are printed in orange.
Rl icaB i 1
35 anshs Lver) Operatloqal Mode voltages are
| B LA i I , o W displayed in boxes. Other voltages
L .J.Jve +{ .
683 ¢ o8 2| urisov shown are for Stand-by Mode due
0 R25 . ||
v 10K w 100K to the Auto On/Off function.
J/
<R22 1c3A10-0v =
2 T2V
) co | cpo {185 s 9
VST 823 23 H(E 1C6F/sov
8 u
} 5:}'-!18 TuFiS0V a9 4R71K*l -—]— 3@
! 9Kd R 2t “ourrsv 3 AVl
= A 100K [1ou 12 sy 3[=|10 1ca
, aroh oo _J:_ 1 L el ! TDA1552Q - S
1 P = = = |
' 8203 3820 1uF/B0Vy| 1 I . SSUFIOOVINP)
1
i + |+ I X T BV TWEET
. C21 c22 Rz +)
' 10uF/25E:E)uF/25V e 3
| == A _1\ ij.ov
1 IR
' | Aog SPEAKER
' R29 L402MH (4
R 885 33 WOOF
1
: = c2% S%ZMYLA) “ ]
! 3
i Cd5 g; 0.1(MYLA) I 18
‘ 1uF/50V “ SPEAKER
1 L13 V\ = == 3.3uF/100V{(NP}
. R41 ~k 9 Il -
Jcac “! il I TWEET
. car C38:;82K ANB554 (R-HPF) €43 o e . o 4
s it Y A 3 0.imH
SN € R CHANNEL
Ny 683 ¢ 683 L
N SR37 7
= 110k R45 8.0V SPEAKER
100K R48 R4 L6 0.2mH (.
T T 83 83 woor [ |
S18K 13D L 5| 8 o
ca9 Ca0  Ts.5ANGEH (RSWHPF) as o
I I L 0.1{MYLA) 0.1(MYLA)
823 | 3823 B~ N — - = 5
50 i'RSS o 1uF/50
uF/25v 9K1 Wi
1K R46
100K 1
L i
R39S $R40 “RH |
8203 $820 3,
4
o4 ==Lt caz s j]
10uF/25E:E’JuF/25V : 5 ;
2820 = = O
1 R2 ;o) To S
| R69 18K 9K1 | 8 o N
$470
i o5 55V ® Jacks
SUBWOOFER OUTPUT [
55V, 8 NJM45580D e a7l [icsB
ce2 + il | Y 47K3 6 >
R71 A\l 2|~ Ay AR
56K | , otk 5.5Y 1 10uF/25V 065 :
o 1204 ] R75 _i102 $R7g NIM4556CD 7
ces| 3 C66 3
R72 \R73 56K TR7S 756K
56K 56K = Liokt | TRl IEIPRT
= 100PC/C = = = = —,°
C90 4
09t |, |foscic ——°
562 LS 470F ) 5 :
¢h8 5216 /25\/:]: I LEAD vire 8EADS| 6 ;
356K 55| 3 N = = c7 L2 = 8
c71 R 1 R87 ¢ 2 = 1 7
83 2 55V YA \ —7
iy 2 T 10 e 2l 8o
4.7uF/50V 3RB2 - 2 i
T 56K - 5 N . C7{6 LEAD wire BEADS JACK 4
B88 +
Q2 R85 6 Sv B i PHONE QUTLET n
7 55V i
4.7uF/50V 820 L3 &L, e
C73 3 100PCIC c77 527:?
223
BRl{ 100PCC A e Ly | vy
470 R84 ji I 9
R92 47
470 = = = =
F [ G H J K L | M N

12




